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HHET AT
GENERAL KNOWLEDGE

1. WG 1 98elT @R e ‘smfeca wert’ e gaifya femem mam em ¢

(A) Taamr 2023 (B) 3TRIST 2024 (C) SIT 2023 (D) SeFs 2023
When was first solar mission of India ‘Aditya L1’ launched ?
(A) September 2023 (B) October 2024 (C) June 2023 (D) November 2023
2. form wret & O UfiRTs W, 2023 ARISA TR T 9 2
(A) i (B) T (C) (D) e
In which city Para Asian Games, 2023 were held ?
(A) Beijing (B) Guangzhou (C) Hangzhou (D) Shanghai
3. 2024 % ¥R yffa va fafm= o (=) o1 sreme fone fgea fomem o o 7
(A) 3T = (B) TTHE I = (€) . =. fa=r (D) €. AR, Hear
Who was appointed as the Chairperson of the Securities and Exchange Board of India (SEBI) in 2024 ?
(A) Ajay Tyagi (B) Madhabi Puri Buch (C) U. K. Sinha (D) D.R. Mehta
4. qfHeATg § T Tt TSI arel i ot e’ feREeh gRT Y& T TR 7
(A) =HA BET (B) TSHTepta
(C) Ifd FAR (D) STE T TmgRIEr
Who launched ‘Tamilaga Vettri Kazhagam’, a new political party in Tamil Nadu ?
(A) Kamal Hasan (B) Rajnikant
(C) Ajith Kumar (D) Joseph Vijay Chandrashekhar
5. 19df Sft-20 PReR TwieH el s femam o o 7
(A) 7 feeeft, v (B) fait fg S, sisfiet
(C) Sebrell, USRI (D) HTEhI, TF
Where was 19" G-20 Summit held ?
(A) New Delhi, India (B) Rio de Janeiro, Brazil
(C) Jakarta, Indonesia (D) Moscow, Russia
6. TWTo WRA A hl YEHTd e gl ?
(A) 2 IS, 2014 (B) 21 3T&, 2014 (C) 2254l 2015 (D) 28 37, 2014
When Swachha Bharat Mission was started ?
(A) 2 October, 2014 (B) 21 August, 2014 (C) 22 January, 2015 (D) 28 August, 2014
7. GETSIHiG wegor 1y gauyy e fom on ?
(A) 3. T Sfam (B) T. J. H (C) . TA. WA (D) T. TH. TgaEH
Who was the first to apply the sociometric test ?
(A) J. A. Davis (B) A.J.Reiss (C) J. L. Moreno (D) A. M. Edwards
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8. TraferRaa 1w 1spm o Hafra hifvw -
|. SR 9
II. T T THEHT
III. FHehT ST fergetsor
IV. THeh! ST SR TehToT
i feu T e # @ wE I AT
e :
(A) L LIV, 1 (B) I, 1v, 1,1 (C) 1,11V, | (D) 1,1, v
Arrange the following in a sequence :
I. Raw Data
Il. Data Processing
[ll. Analysis of Data

IV. Presentation of Data
Choose the correct answer from the code given below :

Code :

(A) 1,11, 1V, 11l B) 1, IV, 1L, Ii (©) I, 1,1V, | ) I, 1,1, IV
9. f=feflaa @ 4 wia-a1 v wra gfawifit =1 wfie =@ a1 iy w1 wafiyes Afas fmm e ?

(A) HifETsh wged HITEa & (B) fersmrer wferest TR uTed BT

(C) 3I+Ta Y Ugfi 1 J=AT HEAT (D) Sfawfir =it mafa=ar s T

Which one among the following is a primary ethical consideration when conducting research involving
human participants ?

(A) Ensuring statistical significance (B) Achieving a large sample size
(C) Utilizing advanced research methodology (D) Maintaining participant anonymity
10. WY e S 3=y smenfia feqor i fafy 2, fohmes g smey 6 i v
(A) Taferam S (B) SH TR (C) w7 =it (D) Sf= fr
Who introduced discovery learning method of inquiry based education ?
(A) William James (B) Jerome Bruner (C) John Dewey (D) Jean Piaget
11, fovafoemem™ em M 6 - 1ga I=a fren § “fefves afin” & e o1 qwa™ &
o+ AT Tl B 7
(A) =S IR IREE (B) wrd Ted fefSreet emgsd (NDLI)
() fefsrea sfean wrishn (D) sfeu il Ui o feafaame™ (IGNOU)
Which initiative of UGC aims to address the challenges of “Digital Learning” in higher education ?
(A) Swachh Bharat Abhiyan (B) National Digital Library of India (NDLI)
(C) Digital India Programme (D) Indira Gandhi National Open University (IGNOU)

12, CYHAE G&AT 10 1 STEH Sldi-ieed 91 @ ?

What is the binary representation of decimal number 10 ?
(A) 0110 (B) 1001 (C) 1010 (D) 1100
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13. TiTTETEe Wse BT A1 @

(A) 1024 STSeH (B) 1024 fhetiamge®  (C) 1024 WTaTgeH (D) 1024 TfrTTage®

The term gigabyte refers to

(A) 1024 bytes (B) 1024 kilobytes (C) 1024 megabytes (D) 1024 gigabytes
14. TRl <l UM &q e ¥ HH-T1 WY T ST @ ?

(A) MS Access (TH. TH. TFaH) (B) MS Excel (TH. TH. TFE)

(C) Google Docs (Tl STeH) (D) MS PowerPoint (TH. TH. YTeRUTEC)

Which tool is used among the following for data calculation ?

(A) MS Access (B) MS Excel

(C) Google Docs (D) MS PowerPoint
15. et o -1 ‘gqe feamw § 7

(A) IR @ig fet (B) A (C) Wi (D) 5@ Tt

Which of the following is an ‘input device’ ?

(A) Bar code reader (B) Monitor (C) Projector (D) Braille reader
16. Tfeefiy uftfeufoa & ufada o grsre § Rt o gt niafaferi % o 6 % S 2

(A) Tiefeafasht (B) uftereT fas

(C) Swary fosm (D) aTfeht

The timing of seasonal activities of plants in relation to change in environmental conditions is referred to as

(A) Ecology (B) Phenology

(C) Climatology (D) Forestry
17.  ‘“wreisiaT Teihia’ Frefafga o & frg v 3 awfRa R 2

(A) forrea et & (B) 3Tauffr &

(C) Shfera wanfera et @ (D) IS WA TREI0T

‘Cartagena Protocol’ is related to which one of the following ?

(A) Heritage sites (B) Wetlands

(C) Living modified organisms (D) Ozone layer conservation
18. Tmafafea o @ H-Th w sm snefa yomedt & Sl wmfEt s At o Tl td S9 gkl § 7

(A) HTET TF (B) HTeA ToeREsm

(C) e e (D) e gfe

Which one among the following is a market based system where companies can buy and sell emission

permits ?

(A) Carbon Space (B) Carbon Sequestration

(C) Carbon Sink (D) Carbon Trading
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19. Tm=fefea argweefa fai 6 39 3maad wfaerd & ged 9 § SFafea i |
|. hIEF SRATFTES

II. g
1. SATeeSH

V. 3T
i feu T e # @ wEl I AT ;
e :
(A) L1V, (B) I, 1v, 1,1 (C) 1, v, i (D) 1, 1,1, 1v
Arrange the following atmospheric gases in order of their volume percentages in descending order.
I. Carbon dioxide
II. Nitrogen
lll. Oxygen
IV. Argon
Choose the correct answer from the code given below :
Code :
(A) L LIV, i (B) I, 1v, 1,1 (C) 1,1V, 1 (D) 1,1, 1,1V

20. Tr=afefaa ugi 1 37 wefla safy & suR W ged 0 o srafena Fifvd |
RIE

e

I

.

= feu U e 4 | wE W g

He

(A) 4,3,2,1 (B) 4,1,3,2

(C) 3,2,1,4 (D) 3,4,2,1

N

Arrange the following planets in descending order according to their orbital period.
1. Saturn
2. Mars
3. Jupiter
4. Uranus

Choose the correct answer from the code given below :

Code :
(A) 4,3,2,1 B) 4,1,3,2
(C) 3,2,1,4 (D) 3,4,2,1
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21. = @ e fou U &, 9 & w1 AR (A) TAT GER T R (R) HET TR
RHYA (A) : T HIS Ta T¢I & Feheteht Tz ¥ T HAT ], 91 98 $S SN 33 IIdT 8 |
AT (R) : TYZ % o1 1 T TG & oA b Ical A 37U 2 |

= feu MU e § T W g

%

(A) (A) 3R (R) T T & 3R (R), (A) Sl T = Tl B

(B) (A) 3T (R) GHI & &, W (R), (A) Sl el =& Tel Hidl &

(C) (A)® B, T (R) TTerd B

(D) (A)TeTd 2, T (R) e B

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : When a ship leaves a river and enters the ocean it rises a little.

Reason (R) : The density of sea water is more than that of river water.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

22, forum fafar st stflger wrdia swivg gfufa i S 1§ Tiefish 3 SUfa 8 yra & favree <1 =fier 6
%1 gl AT 7
(A) 143, 1947 (B) 123, 1947 (C) 04, 1947 (D) 03[, 1947

On which date Gandhiji asked Congressmen to accept the Partition of India at the All India Congress
Committee Meeting ?

(A) 14 June, 1947 (B) 12 June, 1947 (C) 04 June, 1947 (D) 03 June, 1947
23. Trfafed & @ wF-a1 & fovg goadf gt 7 76 2 2

(A) forem (B) =TI =M

(C) ¥Te 3R A (D) Th TETEA

Which one of the following subjects is not in the concurrent list ?

(A) Education (B) Administration of justice

(C) Weights and measures (D) Public health
24. WY fopdeh GUER H TSigd o &9 W 310 AT 7

(A) fomgar (B) 3T (C) ==Ted Hid (D) J&5A

In whose court did Megasthenes come as an ambassador ?

(A) Bindusar (B) Ashok (C) Chandragupta Maurya (D) Brihadratha

25. TSAl § gy e fopg o @r] femerm R e ¢
In which year Dyarchy was started in the provinces ?
(A) 1909 (B) 1919 (C) 1935 (D) 1937
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26. N Giag™ & foha 3<ae o dgd et o AR I Hifees HAfUhR & &9 | M § Tt g ?

(A) IFT=E 21(A) (B) 3= 45
(C) 3T=g 19 (D) 3T=g 32
Under which Article of Indian Constitution is the Right to Education guaranteed as Fundamental Right ?
(A) Article 21(A) (B) Article 45
(C) Article 19 (D) Article 32
27. g Gfaum @omem g gesit Afufat s Tt gt Jem fhan w7
(A) 96T Tfau™ Gemem (B) 97 df Gfae= Hmed
(C) 99T Hfqam HumeH (D) 101 o Hfqe™ Fne=
By which Constitutional Amendment, the Co-operative Societies were given Constitutional status ?
(A) 96 Constitutional Amendment (B) 97 Constitutional Amendment
(C) 99t Constitutional Amendment (D) 101t Constitutional Amendment
28. hifds MR (2020 — 21) & SR Had I 0E THTferd &1 o1 3hH WRATT e & gey o
Tafa HI |
(A) Y, Far, Se (B) %, iy, S
(C) Fer, wEm, Hi (D) S, e, Py
Select the order of worst affected sectors in the context of Indian Economy during Covid Pandemic
(2020 - 21).
(A) Agriculture, Service, Industry (B) Service, Agriculture, Industry
(C) Service, Industry, Agriculture (D) Industry, Service, Agriculture
29. Tsh @ hl s, frem fopelt saferd <1 fopelt 6l T &1 31 1 291 hIE A= &1 ST 8, haaidl &
(A) 31T TSR (B) 3TIU=TiEh SIS
(C) HYEHt ST (D) T SUSITHT

A type of unemployment in which the presence or absence of a person in a job does not make a
difference, is called

(A) Under employment (B) Formal unemployment
(C) Seasonal unemployment (D) Disguised unemployment
30. W S (2025 —26) % TEA UgTH SR HeATT 7 HTHTISIS FL&AT ThiH T Jedra feam w8
(A) fafmior &= & sfieni & fol (B) Y & % wftrehi & ford
(C) TS wiewid Aften! & ford (D) wfgen Aftrent & ford
Under the Union Budget (2025 — 26), first time Social Security Scheme for Welfare has been proposed for
(A) Manufacturing workers (B) Agricultural workers
(C) Online platform workers (D) Women workers
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HHSTIMTHE
SOCIOLOGY

31. WRAT HE 3T90Y T g (14C) hl Lo feeeht # fopm o <t 8 oft 7

In which year Indian Cyber Crime Co-ordination Centre (14C) was launched in Delhi ?
(A) 2015 (B) 2000
(C) 2021 (D) 2018

32. 9 fod & g frefafaa o @ SA-= faowar Twarg 6t foivar 78 2 2

(A) SIUTSTAT (B) HETA
(C) 3rui=rA (D) ferdr
Which one of the following according to Louis Wirth is not a trait of urbanism ?
(A) Transiency (B) Superficiality
(C) Anonymity (D) Religiousity
33. T TN § g5y, U IFK Ud 31 gRI ‘A=hl fd sremm il
g ¢ |
(A) ggardt (B) @fed
(C) wfesaaTeTeh (D) A=

The studies of ‘Yankee City’ by W. Lloyd Warner and others is an illustration of
approach on stratification system.

(A) Dialectical (B) Fragmented
(C) Reputational (D) Ceritical

34. . dRfeyg I fre Teq % TEewEE fawemo g dfvcw B smEumon @ fowfaa fem e 2

(A) TRET &% @M $I 3Aedi g (B) 3RS H Wl o dqdiepl gl

(C) haTset THTS | IR fafmr gry (D) 18 3fvgam & fomamg womelt g
P. Bourdieu developed his concept of ‘habitus’ from the sociological analysis of which aspect ?
(A) Food habits in Asia (B) Cultivation practices in Israel

(C) Gift exchanges in Kabyle society (D) Marriage practices in Red Indians
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35. G — | I T — Il < Y GASTT R |

T -1 g -1l
(vFER) (TEh)
a. ®. g5, firew . fe aifeeifseea feem
b. 3. . WA Il TR Teldad
c. IR, feae . &1se hie : o smfer fafsa s
d. 3TR. SEeih IvV. TS 39 fe fusti sme ammsd
(A) a-ll b-IV  c-1I d—1i
(B) a-ll b-ll c—1 d-1v
C) a- b1l c—IV  d-lIl
(D) a-1ll b—IV  c—ll d—1

Match List — I with List — II.

a.
b.
c.

List -1 List -1l

(Author) (Works)
C. W. Mills I. The sociological tradition
R. K. Merton Il. Sociological Ambivalence
R. Nisbet lll. White Collar : The American middle class
R. Dahrendorf IV. Essays in the theory of society

a-Ill b-1IV c—1 d-lil
a—III b-1l c—1 d-1v
a-— b-1l c—1Iv d-1l
a—II b-IV c—1l d—|

36. Sit. TF. Hig o ITHR “Hed’ o TN I HHAREd § ¥ 3T &
. BT BT

Hl. 3TaT
V. @ud

According to G. H. Mead, the sequence of the stages of the ‘Act’ from the following is

l.

I
M.
V.
(A)
(©)

Manipulation
Perception
Impulse
Consummation
im, 1, 1, v

I, 1, 1v, 1

(B) 1, 1, 1v,

LI, v
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37. ohIF HHISRITE T /IR &1 a1 &1 Haie aHar g ?

(A) et HTe (B) TA. IS
(C) IR, SELeIh (D) . HifeTq
Which sociologist considers ‘Authority’ as the determinant of class ?
(A) K. Marx (B) L. Cosor
(C) R. Dahrendorf (D) R. Collins

38. 1987 W WY Usg R FUIé “3ffer i W= &l Fohd 311 yafera fald & S Sran & ¢

(A) FAG 3TH A (B) F IeIhict
(C) SETE (D) "=t
The report in 1987 by the United Nations, “Our Common Future” is also popularly known as which report ?
(A) Club of Rome (B) Kyoto protocol
(C) Brundtland (D) Monsanto

39. ferem et fob “BmfHdS” Sret 9 fera gt 8 39 <9 < foTu e i dXg SR et g 7

(A) TTfehT 88 (B) Sfrs '@

(C) BT HTeH (D) HTEH T
Who said that the “Megacities” functions as magnet for the countries in which they are located ?
(A) Saskia Sassen (B) David Harvey

(C) Manuel Castells (D) Mike Savage

40. TrfaRea § @ foram 1 3TEeH o ATHe 6t Wi, 394w “fe R 3% mgefedt” (1997) @
i oft Tl seme 08 @ 38w 9 7
(A) BITA HeH (B) ShTT hHTeTE
(C) B =IH (D) 3tceel Aot

Who among the following had examined the cases of three movements, in his work, “The Power of
Identity” (1997), which have dissimilar concerns and objectives ?

(A) Manuel Castells (B) Craig Calhoun

(C) Herbert Blumer (D) Alberto Melucci
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41, g -1 I g - 119 |1 gaferd |

T -1 g -1l
(fergm) ()
a. T, gy, Ul . @ S AT FHATHS WY : T AH-HR
Af LR, 1960
b. I g II. HTEATSSITH 316 3fugsH fevm, 1973
c. dieX sk . & At e 31 fEnferdt, 1966
d. 3afe s Iv. gce foeh T
o fe ™ % § @ wd W I |
He:
(A) a—1 b—1I c—Iil d—1Iv
B) a-—Il b—1ll c—Iv d—|
(C) a—1lIl b—IV c—Il d—1
(D) a—IV b—1ll c—Il d—1

Match List — I with List — II.

List — | List - II
(Scholar) (Works)
a. W. W. Rostow I. The Stages of Economic Growth : A Non-communist
Manifesto, 1960
b. Yogendra Singh II. Modernization of Indian Tradition, 1973
c. Peter Bergor Ill. The Social Construction of Reality, 1966
d. Ulrich Beck IV. World Risk Society

Choose the correct answer from the code given below.

Code :

(A) a—I b-1l c—1 d—-1Vv
(B) a-1li b -1l c—1V d—|
(C) a-1 b-IV c—1l d—1|
(D) a—1IV b -1l c—Il d—|
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42, Tr=fafaa o @ fere <& S 31w € geft> : snfeand e 37 9w sfvea qwas i foar 2 7
(A) sfae grEimm (B) . TH
(C) Tref & (D) Sfwrer et

Who among the following is the author of the book “The Coming of the Devi” : Adivasi Assertion in
Western India ?

(A) David Hardiman (B) K. Gough
(C) Gerda Lerner (D) Daniel Lerner

43. = @ %o feu U B
FUT -1 : Bl HEE & fo=r sfagm & Wifaeward) amon o fafga 9 |

FUA- Il : HIA A o FTER, T & foam qmnfoes afiteds 1 J&7 914 ¢ |

3T BT o ATl H FEfiRad # & Suge ST T |
(A) Y | I 1| A1 T B

(B) A | 3 || T Ted &

(C) H¥A | T &7, Toheq HoF 1l TeTa B

(D) YA | TTd 7, Tohed eH 1| TT B

Given below are two statements :

Statement - | : Karl Marx views are grounded in the materialist conception of history.
Statement -1l  : According to Karl Marx ideas of human being are the main source of social
change.

In the light of the above statements, choose the correct answer from below.
(A) Both statement | and statement Il are true

(B) Both statement | and statement Il are false
(C) Statement | is true but statement Il is false
(D) Statement | is false but statement Il is true

44, froa a fear on fop Uweame, U wE U -US, ot snyfae @ % 3arg 7, e 3¢

it ifa o fifga & 7

(A) IR TR (B) HIfeT IR

(C) T\ wIféa (D) . TugEH
Who argued that Nationalism, Nation and the Nation-State are all the product of modern civilization
whose origin lies in the industrial revolution ?

(A) Ernest Gellner (B) Martin Shaw

(C) Gus Martin (D) B. Anderson
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45. wy fagr gErey ¥ fohg W e hfgd e § 7

(A) TR TR (B) =t Hoy

(C) TehTITcHeh TTHS (D) |Mfeeh JaT
What does conflict theory primarily focus on ?

(A) Social stability (B) Class struggle

(C) Functional harmony (D) Collective consciousness

46. Trafafga 4 9 fread -1 "races i saumon &1 gfqured feram 2

(A) T Tgwhiee (B) 2. st

(C) U. AR, <ET8 (D) wH. H. g&
Who among the following propounded the concept of ‘Folk Urban Continuum’ ?
(A) Robert Redfield (B) D. Sanderson

(C) A.R. Desai (D) S.C. Dube

47. frefeafaa & @ foraer a o fop smyfiehar s sifew Tepfa 2 2

(A) TH. HEH (B) T frg=

(C) . efer (D) 3. BeREH

Who among the following opined that modernity is a risk culture ?

(A) M. Castells (B) Anthony Giddens
(C) J. Derrida (D) J. Habermas

48. SHAfaash TEPId R TS HEPId o HeA FHATREd § § foheq g fpan 2 7
(A) 3TeH Ta T (B) STt ffer
(C) Tew fetues (D) T Peed SAfsHe
Among the following who distinguished between subjective culture and objective culture ?

(A) Ogburn and Nimkoff (B) Georg Simmel

(C) Ralf Linton (D) Ruth Fulton Benedict
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49. Tore #rT Top UE feufaart e ameaforss &9 4 ieAiv foram o &, o 379 aRomHi # aredfae @ ?

Who perceived that situations that are defined as real are real in their consequences ?
(A) W. . Thomas and D. Thomas
(B)
(C) Davis and Moore
(D)

Horton and Hunt

Maclver and Page

50. & FTH FeA Teh IETE &

(A) 3TSHIHT T ST T (B) Tfaier AT o
(C) HHTSIHTOT T (D) ffrehT g1 I

The KU KLUX, KLAN is an example of
(A) Tribe of Africa (B) Resistance movement
(C) Socialization (D) Role set

51. 1. o o SaR GeTcHe foshm & frfetiad <ol i shisg i |

i. qd e =

i, 319 ITETe =

iii. TS WX <

iv. =T TRETeH =X

Arrange the following stages of cognitive development according to J. Piaget.

i. Pre-operational stage

ii. Concrete operational stage

iii. Sensori motor stage

iv. Formal operational stage

(A) i, ii, iv, il
®) i, iv, iii, i
() iil, i, i, iv
(D) i, i, i, iv
M -14-

41
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52. 39 gftedd & fagra § fuefm grifer 3 gam o fora srereen i ==t 7 &1 ?

(A) heYUdTcHh

Which stage of society was not discussed by Pitrim Sorokin in his theory of change ?
(A) Ideational
(B)
(C) Sensate
(D)

Idealistic

Systematic

53. I THeEX ! AMTN 3TGIe < fhd fagr=a & Ty et Smar g 7
(A) GTEHTH aHTe
(B) TcitehTceh TSI
(C) |ETYA 39T

(D) WdliehTcHe 3TEThId

Neil Smelser is associated with which theory of social movement ?
(A) Structural strain

(B) Symbolic politics

(C) Resource deficit

(D) Symbolic rejection

54. TR % T G, g 9w 3 B & nffentor o6 3 fopment fean smar 2 2

(A) b T "GRifes (B) Sft. 8

(C) =, Sit. FHI (D) <ft. faae
The classification of groups into monad, dyad and triad is attributed to
(A) P.A. Sorokin (B) G. Haser
(C) W. G. Sumner (D) G. Simmel
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55. TH. WH. IYMHA A AT TRIH0  TFg H -5 fawar o1 fsh 781 fopam o 7

(A) 3TTEY (B) gUIH! Ui
(C) Hd=ATIH (D) ==
Which of the following characteristics was not discussed by M. M. Tumin regarding social stratification ?
(A) Analogous (B) Far-reaching consequences
(C) Ubiquitous (D) Ancient

56. FAIRGA H | M- el 1 AT TH. . o g o mm & 7

(A) T (8) Tt

(©) #ft 3w (D) T ¥
Which of the following village is studied by S.C. Dube ?

(A) Rampur (B) Shivapur

(C) Sripuram (D) Shamirpet

57. fr=fefaa o & <9 ygEar fades T9H & 79 & I 8 7

(A) TS, TS, UFA (B) TIgH TEH

(C) . foere (D) . forerd

Who among the following is associated with the prominent differential scale measurement ?
(A) L. L. Thurstone (B) Louis Guttman

(C) K. Pearson (D) J. Lekert

58. Ueh I AL H, YR Arar=fientor faeht dear shi wlienn anft smeht 8, 38 el I &
(A) THeTcHS =R (B) I3
(C) 3Yeheddl (D) ﬁa}?iq
In scientific research, a tentative generalization the validity of which remains to be tested is called

(A) Imaginative idea (B) Intuition

(C) Hypothesis (D) Sampling
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59. < hlogH W BUH IATh AR (2012) g&as fohaq forar ?

(A) uesT we 7e (B) Tel. TH. SIS T 3

(C) hret forereie (D) T. 9¢% T 5. I
Who wrote the book “The Fields and Methods of Sociology” (2012) ?

(A) Lundberg and Hatt (B) L.L.Bernard and Others

(C) Karl Pearson (D) A.Wolf and E. Wolf

60. <hI TEGTEY % TUMH & IS B 7

(A) HId BeH (B) 1ot IR
(OEISRERE DIEIGRIRIE
Who is associated with the coefficient of correlation ?

(A) Karl Mannheim (B) Karl Popper
(C) Karl Pearson (D) Karl Polyani

61. I | UiEda & afsha fagra & awefa g 2
(A) Taeshel Tt (B) TH. UF. AT
(C) A s (D) TITehTC UTE
Cyclical theory of social change is associated with whom ?

(A) Vilfredo Pareto (B) L.H. Morgan

(C) Max Weber (D) Talcott Parsons

62. = o ALY Ush Ura-Y o Ueh HANNUG AT hl JHET AT &
(A) Y gty (B) |Ieqm

(C) MTehehed-T (D) ErE

LN

An unverified statement of a relationship between variables is known as
(A) Research method (B) Survey

(C) Hypothesis (D) Sampling
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63. fFrafafea ¥ @ wia-t wfafy &g fres & ufafy 72 2 7

(A) et fafer
(B) feue arfetst =1 3w
(C) TR 3R wew arfetept 1 Iw=mT
(D) TSt fresta

Which one of the following is not a technique of random sampling ?
(A) Lottery method
(B)
(C) Use of Fisher and Yates table
(D)

Use of tappett table

Snowball sampling

64. 3MYFTehaT i TR H 3 forw v, g 7 fope oot ween 6t wra T ot ¢
(A) =1 wife
(B) &HISIATG
(C) eftare
(D) SETEITE
A. Giddens did not discussed which basic institution for defining modernity ?
(A) Military power
(B)
(C) Capitalism
(D)

Socialism

Industrialism

65. “SIUshH! TUE FACGNMA" (1965) T&deh feha foralt oft ?
(A) T IR
(B) ot w. umeH
(C) Ul TH. &A1
(D) 3. . TH

Who wrote the book — “Bureaucracy and Innovation” (1965) ?

(A) Max Weber
(B) Victor A. Thompson
C) Peter M. Blau

)

(
(D) R.K. Merton
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66. I QI oA TGl T 2, TH hl AHHAA (A) T GEX & T (R) Hal T1 2 |
TR (A) : TmHTRereh 3T foemm fagri & wiefor a1 39 I & T
T A O g § |
ek (R) : T8 A THION o Th1er | ITH HINEE HLdT & |
3T & Fclrehd ° i e T fomhemt § & W IW w1 = HIfT |
(A) (A) 3R (R) SHT T & T (R), (A) T wE = 7
(B) (A) 3 (R) <HI Tt & @2 (R), (A) i Tl = & 2
(C) (A) &l & a1 (R) Wel &l @
(D) (A) el &l & fereg (R) W&l &

Given below are two statements. One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Social research is related to the studies that attempts to test or challenge

existing theories.

Reason (R) : It receives them in the light of new evidences.

In light of above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct and (R) is not the correct explanation of (A)
(C) (A) is correct but (R) is not correct
(D) (A) is not correct but (R) is correct

67. Ueh G0 A foweisur shl SITEY™ Sh1eal I =, i, I8l 31 7T do foh qursti o &9 7 off
fora ST wehet 2 | oo Y 57 gehTeA I kel ST 2
(A) =
(B) SHEEAT
(C) =
(D) Fegoter
In a survey research units of analysis may be taken as households, castes, cities or even societies,

these units of analysis are called
(A) Elements

(B) Population

(C) Sample

(D) Totality
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68. Tg—=gawen ariard) fagma = & @ fopm fargral 1w B 7

(A) IEHATE! Td AreEETdl Sfardl g
(B) WTRIETE! UE 3yaTel St g
(C) IGRATE! Ud PTGt Ttardt frgr=
(D) wrerdeTel Te Wty Eftardt g

Dual-systems feminist theory is a synthesis of which of the following theories ?
(A) Liberal and Marxist-feminist theories
(B)
(C) Liberal and Radical-feminist theories
(D)

Marxist and Radical-feminist theories

Marxist and Classical-feminist theories

69. foreh TIER oW TG GFRT HI & & 7
(A) deT TR

(B) Tt HTRE

C) Wia §d

D) 3HIs g™

According to whom religion is the heart of a heartless world ?
(A
(B

C
D

) Peter Berger
) Karl Marx
(C) Steve Bruce
(D) Emile Durkheim
70. 2011 STTUMT & 3TTAR WA § AT shi SHE@A foha & ?
(A) 95.2 faferm
(B) 104.5 fuferam
(C) 125.2 fuferm

(D) 150.2 fuferm

According to the 2011 census what is the population of tribes in India ?
(A)

(B)

(C) 125.2 million
(D)

95.2 million
104.5 million

150.2 million


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

71, HH-H1 TRIT GETSTTE R TRt o ST A& I 8 7

Which urban sociologist does not belongs to Chicago school ?
(A) E.Burgess

(B) Louis Wirth

(C) Doreen Massey

(D) Robert E. Park

72. fore e fean fo T ¢ sl g v 2 R sifer w0 anfea @ et S # 2
(A) ©1. s=y, Toew
(B) TS, b
(C) TH.TH. TS
(D) 3TR. SELSTh
Who argued that society is composed of a number of units that are called Imperatively Co-ordinated
Associations ?
(A) C.W. Mills
(B) A.G. Frank
(C) S.F. Nadel
(D) R. Dahrendorf

73. Torem 310 Sgif=ies @ | fava—sgaem o1 TR &1 ST Teh SaTeh oo uiche gohTs
FEqH e ?

Who has used the concept of ‘World-System’ as a formal analytical unit in his theoretical framework ?
(A) Talcott Parsons
(B)
(C) Karl Marx
(D)

Immanuel Wallerstein

Fernand Brandel
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74. GTEATHS g % ufdures & €9 H fohd T A1 B 7
(A) SHE M
(B) Tt frgw
(©) wieft
(D) WEI & TR
Who is known as the propounder of the ‘Structuration Theory’ ?
(A) Jacques Lacan
(B) Anthony Giddens
(C) Levi Strauss
)

(D) Ferdinand De Saussure

75. foRaa megfehdr 1 Tk YU WNiee’ % w9 A faveifya fem g
(A) . ZEEE

Who has discussed the modernity as an ‘Unfinished Project’ ?
(A) J. Habermas
(B) J.F.Lyotord
(C) F.Jameson
(D) G. Ritzer

76. Torer Sregpfcrm 1% diEser i Fehor Hi off ?

Who had advocated on the “Deschooling of Society” ?
(A) Ivan lllich

(B)

(C) P. Bourdieu
(D)

John Macleod

C. Murray
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77.

78.

79.

247

TopEr WRTRITEN TTCSIET ST START hid BT SITTd el 6 a1 o 3ER T fowetfya feam g 2

Who has used the indological perspective to analyse caste system on the basis of purity ?
(A) Louis Dumont
(B) N.K.Bose
(C) B. R. Ambedkar
)

(D) Dipankar Gupta

31Uy % faedientor afded 4 9 JeT B 7

Who is associated with the labelling perspective of crime ?
(A) Howard Becker

(B)

(C) R.K.Merton
(D) Albert Kohen

Lombroso

“oe Teft T T o1 A= 3 R 1 T # @ g ua foeen e g o
(A) 3. HEIUE
(B) sl
(C) ¥. gEim
(D) B &
“Crime is an integral part of all Healthy Societies.” Who opined this ?
(A) E. Sutherland
(B) Lombroso

C) E. Durkhiem

)
)
)
D) Max Weber

(
(

-23- 41
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80. ﬁmﬁf@aﬁﬁwﬁawﬁ;mﬁﬁ%mﬁmaﬁwﬁ%ﬁ Sree w1 ST R 7

Among the following, who used the word “fa siafiability” in the context of social science ?
(A) Karl Popper

(B) Thomas Munro

(C) George Ritzer

(D) William J. Goode

81. XIféfeh ISR GRI hefl R hi Tehrien sl FfciRad o & forg Wepr § afiepa fomam S
T & ?

Recording of classroom behaviour by Educational Psychologists can be classified into which of the
following ?

(A) Ethnographic observation
(B) Structured observation

(C) Non structured observation
(D)

D) Non reliable observation

82. fepem g wifereh 31Tt wisfefhep fepait (1934), Teae forelt & 2
(A) T ToRRE

(B)
(©)
(D) STet HTad

Who has written the book ‘The Logic of Scientific Discovery’(1934) ?
(A) Karl Pearson
(B) Karl Polyani
(C) Karl Popper
(D) Karl Marx
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83. “dcg NeEM 3 Hitreht Yo (1963) ATHS T o TGS HIH & 7

(A) TG art (B) Sit.dt. W

() faferm 3. 712 (D) Wus Tt
Who is the author of the book “World Revolution in Family Patterns” (1963) ?
(A) Patricia Morgan (B) G. P. Murdock

(C) William J. Goode (D) Raymond Firth

84. T ® @ fopem sl qeve wd wore Sitea 61 51d *al 8 7

(A) 3. SHIfe (B) IAX. A
(C) TS ST (D) TH. FIER
Who among the following has argued about hegemonies masculinity and emphasized feminity ?
(A) E. Corbin (B) R. Connell
(C) L. Coser (D) M. Connor

85. Y& ‘] ®cH 3% HINRANThA HUS” (1976) % o1& HH & 7

(A) Tt gRaw (B) 1. &, orEH
(C) T few (D) ShTT Shefed
Who is the writer of the book “New Rules of Sociological Method” (1976) ?
(A) Emile Durkheim (B) J.B. Thompson
(C) Anthony Giddens (D) Crag Calhoun
86. & fetfircm g mar SR TRRINTA i 78 |
(A) TS A% TH 1972 (B) IATELE A9 1972
(C) ¥THE HIeUH 1798 (D) fava @ry Trea 1991

“The Limits to Growth” was published by
(A) Club of Rome 1972 (B) United Nations 1972

(C) Thomas Malthus 1798 (D) W.H.O. 1991
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g7. for yfirert & e # TR SRIEC 6t sEURon e wE i ?

(A) IF 9= ug fermfem (B) UH 3Thct UF E5cY, BiC

(C) s Sfeerdm (D) foreer TIgTR wa e wied
Who has used the concept of “Human Biogramer” regarding sex roles ?

(A) John Bowly and Lingtis (B) Ann Oakley and W. Hatt

(C) Bruno Bettelheim (D) Lionel Tiger and Robin Fox

gs. famfoifigd d 9 e samn for “fora TorR Wt 3o faTfeai o amfyes Sfieq &1 SR e 27 7

(A) T a1k (B) =foe 7w
(C) T®. M= (D) st fawe
Who among the following has provided an account of “How city shapes its inhabitants Mental Life” ?
(A) Robert Park (B) David Harvey
(C) F.Tonnies (D) Georg Simmel

89. TrmafeiRga & & forem wwemn fop fafira fafime R % ufar wenfa &@i § sa Hr ygfa 2 7

(A) o E (B) &t =t qen . &=

(C) . e (D) =i 3res
Who among the following explained that distinct family type tends to settle in concentric zones ?
(A) Burgess (B) B. Berry and P. Rees

(C) R.Park (D) Yogesh Atal

90. oo ore® &7 e sffean wT 3 T feoeft faeier (1958) & oi@es i 7 7

(A) TE. ®. g (B) AR AferH

(C) . . sfifram (D) . IR, ='W
Who is the author of the book “Village Life in Northern India Studies in a Delhi Village” (1958) ?
(A) S.C. Dube (B) Oscar Lewis

(C) M. N. Srinivas (D) B.R. Chauhan

91. TmafeiRaa & 9 forem T TR Afaawi 1 Fueh TEpiaE H1 qa-THS I fhat 7

(A) 3T Sidgel (B) IR. {&hHIce

(C) IR TgH (D) 3. ANSH

Who among the following conducted the comparative study of peasant cultures of India and Mexico ?
(A) Andre Beteille (B) R. Redfield

(C) Oscar Lewis (D) E. Norbeek
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92. T <l TReATHT H #. STl A fopw Wi W W &l T o 7

(A) T (B) T
(C) aITgTa fermrsan (D) SfcreRuoT
Which tendency was not emphasized by C. Bougle in the definition of caste ?
(A) Hierarchy (B) Exploitation
(C) Hereditary specialization (D) Repulsion

93. “aeqfIsaar, frsaerdn ® ST 1 whEr i I FTeT W AT & — 3 fohe a7

(A) T S5, U (B) HehTeeR T U
(C) ueert (D) T
“Obijectivity is the willingness and ability to examine evidence dispassionately”- Who said it ?
(A) A.W. Green (B) Maclver and Page
(C) Lundberg (D) A. Kofs

94. & diuew sATEH ATk 1T TGH! Ut Th. TRwhIes U9 31T (1948) 1 foram o | fopm argeeam

T ITET & 7
(A) SETTICHe STEUH (B) oIS SEUH
(C) Uferarfers @y (D) eeTv FHAH

‘The Peoples Choice’ a study carried out by Paul F. Lazarsfield and Others (1948) is an example
of which research ?

(A) Experimental research (B) Ethnographic research

(C) Historical research (D) Survey research

95. “fos 3Taetieh ¥ 3% BT & 3R 36 379 1< Terar < foTe 4H: 3raeiieh W 9198 371 ggal
2 | efafad § & fFom 39 Wy e ?
(A) Hi. T 4R (B) 3. U. SITEH
) . . = (D) 35, I T2 W . &. &
“Science begins with observation and it has come back to observation for its final validation”. Who
among the following highlighted it ?
(A) C. A. Mozer (B) E. A. Bogardus

(C) P.V.Young (D) W. J. Goode and P. K. Hatt
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96. TUWl. SYAI< A AR HHIS H HIHTh Tia o fareersr i ford 3umm g wfaure fepar o 7
(A) ThTTcHs Tyl afefy
(B) HTTeHeh~Uferaiirh
(C) eI~
(D) TeHifaes-3ferameramea

L. Dumont had propounded the analysis of social change in Indian society through which approach ?
(A) Functional frame of reference

(B) Cognitive-historical

(C) Hedonistic-economic

(D) Political-historiographic

97. WRA H fohm oy Y3 Tog WTel! (Ivqe) Tfaf=m dria foram a2

In which year Bonded Labour System (Abolition) Act was passed in India ?
(A) 1962
(B) 1972
(C) 1969
(D) 1976
98. Torm fagm 7 snyfis SH-T=R 1 3ifq ardfashar & @ Sfrer o1 ?
(A) SfE. THET
(B) . sifgeme
(C) J. Th. TS
(D) TH. HEA
Which scholar associated modern mass media with hyper reality ?
(A) Z.Bauman
(B) J. Baudrillard
(C) J.F. Lyotard
(D) M. Castells
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99. = fqu T Q1 Al H § T h I(UHT (A) 3T G I Tk (R) gl T ¢ |
aftrrem (A) @ ST H BRasRIT % SR s ariefae JeeE 3o g 2 |

T (R) : 3Afeek Iaared & foru g, fteTa S/ w1 31fesh gred 37 e 9
TER @Gl 1 37fd START o el TET I8 g |

IR FUAT F NS B FfRad et § ¥ TEifue ITgE IO 99 |
(A) (A) 3T (R) SHI Tl & 3 (R), (A) i & = §
(B) (A) 3T (R) 2T Tl & 3T (R), (A) 1 T = e &
(C) (A)T& 2 TG (R) TeTd &
(D) (A)TIeTd & T (R) Wel @
Given below are two statements : One is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : Many ecological problems emerged in Punjab due to Green Revolution.

Reason (R) : It happened due to over use of soil, ground water and pesticides and

chemical fertilizers for excess production.
In the light of the above choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct
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100. = fu ™ § el § & wH Hl AR (A) 3R G HI T (R) FHET TR |
afrpem (A) ¢ HEUT gfeqor Wi wigas € R
T (R) : TrEChEl o1 Y IRER (SeotH) qUT AR 1 Y URAR HHET 7 |
3T HYHT o 3ATelh H Ffafad fashedt § @ Taffos Swge 3T A |
(A) (A) 3T (R) 3T Wl § 3T (R), (A) T wE =men &
(B) (A) 3T (R) THI Tl & 3 (R), (A) i w&l = & &
(C) (A)®&l &, W (R) Terd &
(D) (A)TeTd & T (R) & 2

Given below are two statements : One is labeled as Assertion (A) and other is labelled as Reason (R).

Assertion (A) : The whole of South India is not matrilineal.
Reason (R) : Both the joint family of the Nambudiris (ILLAM) and the joint family of the Nayar
are same.

In the light of the above choose the correct answer from the options given below :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(C) (A)is correct but (R) is not correct

(D) (A) is not correct but (R) is correct
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INSTRUCTIONS FOR CANDIDATES -
’E’ 1. There are two Parts in this Question Booklet. The first part of which contains a total of 30 questions related to General ’E‘
- Knowledge. et
‘Z‘ 2. There are a total of 70 questions related to the optional subject in the second part of this Question Booklet. :::
‘Z‘ 3. There are 100 question items given in this Question Booklet. Each question item is printed in both Hindi and English. .:.
‘Z. Four options are given for each question. Choose one of these options which you want to mark on the Answer Sheet. .:’
‘Z‘ If you feel that more than one option is correct, then mark the option which you think is best. Only one option has to ‘:‘
‘Z‘ be chosen for each question item. ‘:'
M 4. Immediately after the commencement of the examination, you must check the Question Booklet to ensure ¢

X/
CAX
X/
*

CR)

that there are no unprinted, torn or missing pages or question parts etc. in it.
. Candidates should open the seal of the Question Booklet only after being instructed by the Room Invigilator.
Before answering on the Answer Sheet (OMR Sheet), the candidate should carefully read all the instructions in the
Question Booklet and Answer Sheet.
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< 7. The candidate must write his/her roll number, subject, correct question paper code, number of answered questions RX
R and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will o,
R not be evaluated and the entire responsibility will be of the candidate himself/herself. .E‘
& 8. The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using R
< black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not RX
< be evaluated. RY
&9 Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted. R
« 10. Candidate should not fold the Answer Sheet (OMR Sheet). <

>
>

11. You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the
Answer Sheet (OMR Sheet) to the Room Invigilator.

12. In case of any discrepancy between the Hindi and English versions, English version will be taken as final.

13. If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will
be disqualified from the examination.

14. No candidate will leave the examination hall until 120 minutes (two hours) are completed.

15. Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be
provided.

16. Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet
(OMR Sheet).
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